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PELR Efp— B | B = | Ew | BB | A | B | B | Edw|EdE| F3 | £R | A
11A218118228| 11423 [11A248[11 £258[12A058(124068[12A078(125088[125098
®e=|80.0| 8.5 8.0 79.3| 8.3 | 87.9 | 8.4 | 86.6 | 89.8 | 80.0 | 84,37 6
TH=| 740 76.3 | 78.8 | 77.0 | 80.0 | 92.9 | 92.1 | 83.1 | 88.0 | 80.0 |82 21 9
#E=|7808.3|8.3 830 8.8 | 92.5| 6.5 | 8.3 | 89.8 | 80.0 | 81.83| 11
H4%=| 80.0 | 86.5 | 83.3 | 88.3 | 85.3 | 92.1 | 93.6 | 84.5 | 88.6 | 80.0 | 86.20 3 *
Ao=¥| 83.0 | 86.8 | 83.3 | 85.3 | 87.0 | 95.9 | 95.9 | 90.4 | 88.6 | 80.0 | 87.61 1 *
se=7| 83.0 | 88.3 | 88.3 | 83.8 | 87.0 | 95.3 | 93.9 | 90.1 | 83.4 | 80.0 | 87.29 2 *
B=%| 81.5| 82.3 | 85.3 | 82.3 | 8.3 | 94.2 | 8.3 | 86.3 | 88.6 | 80.0 | 85.39 4
=#a|lm=z| 0| 9.0 77.5| 77.5 | 85.3 | 89.7 | 86.2 | 81.3 | 86.6 | 80.0 | 82.00 10
m=m fro] eio| 5.8 58| Ta0 76T | se7 | an4 | 834800 | T 16 12
#=z| 7.0 75.8 | 70.5 | 64.0 | 83.5 | 66.1 | 71.4 | 60.5 | 88.0 | 80.0 | 73.37| 13
#=¢| 8.7 | 781 | 89.8 | 56.5 | 90.7 | 45.8 | 45.8 | 43.0 | 50.5 | 80.0 | 66.58 14
#2=7z| 84.5| 89.8 | 92.4 | 88.6 | 89.8 | 89.1 | 86.0 | 76.5 [ 73.8 | 80.0 | 85.03 5
B7=|821]8.9|8.2|8.9| 77.8| 84.9 | 8.5 | 8.7 | 81.5 | 80.0 | 83.25 8
thpi=| 77.0 | 80.8 | 74.0 | 85.3 | 85.3 | 90.0 | 96.2 | 85.1 | 89.5 | 80.0 | 84.30 7
#m=| 86.0 | 86.0 | 89.5 | 86.0 | 80.0 | 92.0 | 83.5 | 80.0 | 80.0 | 80.0 | 84.30 7
Ba@—| 80.0 | 87.8 | 86.0 | 87.8 | 79.0 | 84.3 | 92.0 | 76.5 | 85.7 | 80.0 | 83.89 8
Tw—| 80.0 [ 79.5 | 83.0 | 83.0 | 76.5 | 79.7 | 88.9 | 76.5 | 87.2 | 80.0 [ 81.42| 11
#E=| 80.0 | 9.8| 9.1 87.0 | 90.3 | 94.5 | 94.1 | 85.3 | 87.7 | 80.0 | 88.07 1 >
H1%=| 80.0 | 87.1 | 85.4 | 90.6 | 91.3 | 92.0 | 96.2 | 80.0 | 85.9 | 80.0 | 86.84 2 *
Ao—%¥| 80.0 | 86.0 | 85.7 | 86.6 | 89.5 | 87.1 | 91.8 | 81.8 | 83.9 | 80.0 | 85.22 4
mm=—2z| 80.0 | 89.5 | 86.6 | 85.7 | 87.8 | 95.2 | 88.8 | 81.8 | 81.9 | 80.0 | 85.70 3 *
B 80.0 | 8.7 | 86.0 | 84.2 | 81.5 | 89.2 | 92.7 | 81.8 | 83.6 | 80.0 | 84.46 ()
—%#4&|M—z)| 8.0 | 8.0 | 83.5 | 81.8 | 82.5 | 87.8 | 92.0 | 80.0 | 82.5 | 80.0 | 83.59 9
#=¥| 80.0 | 84.8 | 85.4 | 81.5 | 85.0 | 86.1 | 84.0 | 81.8 | 80.1 | 80.0 | 82.86 10
#=7z| 8.0 79.0 | 79.5 | 79.0 | 80.0 | 79.7 | 847 | 76.5 | 78.7 | 80.0 | 79.70 15
#-v| 80.0| 8.0 8.0(8.7|8.7|7.3]8%0]7.3]7.3]|80.0]8L.41] 12
#=-7|80.0| 79.5| 77.5 | 79.5 | 89.5 | 77.0 | 840 [ 75.5 | 77.0 | 80.0 | 79.95 14
#%-| 8.8 8.5 8.5 8.7 83.3| 96.5| 84.3 | 81.8 | 85.5 | 80.0 | 84,87 5
#hri=| 80.0 | 87.1 | 75.0 | 81.8 | 82.1 | 86.0 | 83.7 | 74.8 | 78.4 | 80.0 | 80.86| 13
ezpk—=| 80.0 | 86.0 | 93.0 | 89.5 | 86.0 | 80.2 | 90.0 | 80.0 | 80.0 | 80.0 | 84.47 6
Ew—| 83.0 | 80.6 | 82.5 | 83.1 | 83.3 | 83.7 | 79.0 | 80.3 | 78.0 | 80.0 | 81.32 8
E#%—| 80.9 | 79.9 | 84.6 | 87.0 | 90.0 | 88.8 | 83.5 | 86.3 | 78.8 | 80.0 | 83.97 5
#E—| 8.9 [ 737|824 79.8|80.3| 79.6 | 8.5 | 83.3| 73.8 | 80.0 [79.40| 13
Z4%—| 82.7 | 81.0 | 85.5 | 80.3 | 81.8 | 78.1 | 83.5 | 76.8 | 80.0 | 80.0 | 80.95 9
Ao—F| 83.3 | 86.1 | 93.0 | 91.8 | 90.6 | 93.5 | 86.5 | 90.0 | 90.0 | 80.0 | 88.48 1 *
mw—2| 83.3 | 83.4 | 92.4 | 88.5 | 89.9 | 93.5 | 85.0 | 90.0 | 90.0 | 80.0 | 87.60 3 *
E—7| 82.7|82.2 | 84.7| 8.4 | 785 | 77.6 | 8.5 | 78.8 | 82.5 | 80.0 | 81.87 1
—%4%|HM—2z| 83.0 | 84.9 | 86.5 | 8.5 | 67.0 | 78.8 | 86.5 | 88.3 | 85.0 | 80.0 | 82.64 6
#—w| 80.0 | 76.7 | 80.0 | 79.4 | 77.5 | 80.6 | 80.5 | 81.8 | 80.3 | 80.0 | 79.66 12
#—z| 8.0 | 79.7 | 83.2]80.3| 79.9 | 8.2 | 8.0 | 80.3 | 78.5 | 80.0 | 80.79 10
#£—F| 83.0 | 77.6 | 68.8 | 79.5 | 88.3 | 81.6 | 82.0 | 80.3 | 79.8 | 80.0 | 80.06 11
#—-z| 78.8 | 76.3| 8.7 8.5 | 74.8 | 74.6 | 787 | 77.0 [ 78.3 | 80.0 | 77.95| 15
B % —| 83.0 | 8.7 | 8.7 | 85.8 | 89.3 | 87.0 | 86.5 | 86.8 | 84.3 | 80.0 | 85.51 4
thBi—| 74.0 | 80.1 | 87.4 | 75.8 | 75.3 | 79.8 | 74.5 | 83.5 | 73.8 | 80.0 | 78.40 14
#xm—| 83.0 | 86.0 | 93.0 | 93.0 | 93.0 | 93.5 | 83.5 | 87.0 | 90.0 | 80.0 | 88.20 2 *
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